Exercise 4.3

Q.1  Express each of the following
surd in the simplest form:

(i) 180
Solution: /180

0):

(18
( ><2><3><3><5)

( ><32><5)
1 1 1

=2 2><32 2 %52
:2><3><\f
6( 5 Ans

(ii) 34162
Solution: 3162

ki)
:3(\/97><\E)
=3x9(+2)
=2772 Ans

(iii) %\3/128
Solution: E\3/128

:%x4xiﬁ
:3><iﬁ

= 3{/5 Ans

(iv)  3/96x°y’z°

Solution: {/96x°y’z"

:\/32><3><x V' xx'y's’

= 3/25 x3xx’y 2 xxy’z’
= {/25x5y525 x\/3xy223
:i/z?x\/xix\/)?xi/z?xéBxyzzg

= 2xyz:/3xy°z" Ans

Q.2  Simplify

o
(i) NN

Solution:




(iii)  =3/243x7y""Z"
Solution: = {/243x”y"’z"
LT

:i/3_5><§/x_5><{/(y2)5 x{/(zS)S
=3xxxy’ xz’

=3xy’z’ Ans
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(iv) —~3N125

5
Solution: g\S/IZS

:§\3/5><5><5

4.
5

53

v) @x\ﬁxﬁ
Solution: \/ixﬁx\/g
=73 xJTxf3
=7 x3x7Tx3
= J7x7x3x3
=7 53
=7x3
=21 Ans

Q.3 Simplify by combining similar
terms.

(i)  V45-3J20-45

Solution: \/5—3\/%+4\/§
= J9x5-3/5x4 + 445
:\/372><\/§—3\/272><\/§+4\/§
=345 -3x2/5+445
=3J5-65+45
=J5(3-6+4)
=/5(3-2)
=V5(1)

=5 Ans

(i)  4V12 +5427 =375 ++/300
Solution: 4+/12 +5+27 —375 ++/300

= 44 %3 +5J9%3 —3J25x3 +/100x3

= 4x 23 +5x34/3 —3x 53+ 1043
=83 +153 153 +10./3
=83 +15/3 153 +10/3




Giy  V3(243+345)

Solution: \/§(Z\E+3x/§)
=B x3(2+3)
“(B) 9
=309

=15 Ans

(iv) 2(6\6—3\/5)

Solution: 2(6@ ~3J5 )
=2x~/5(6-3)
=2x+/5(3)
:6\6 Ans

Q.4  Simplify

i (3+3)(3-45)
Solution: (3+\/§)(3—\/§)

G (V5 +\E)2
Solution: (/5 ++/3)
=(V5) +2(B)(B)H(B)

=5+245x3+3

:8+2\/B Ans

i) (V5+V3)(V5-+3)
Solution: (\/§+\/§)(\/§—\/§)
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(v) (\/;Jr\/;)(\/;—\/;)(ery)(szryz)

Solution:

(Vo e ) (V=) e ) (07
(5 () et )

(x y)(x+y)(x +y )
() =) (¥ 7
(xz_yz)(x2+y2)






